Challenge Card 1
1. If a case of Gatorade (24 bottles) is $18.00, how much is the cost per unit?
a. $75.00

b. $1.33

c. $18.00

d. $0.75


2. There are four options for the football team to purchase pads: 
Package A:  3 pads for $27.00.

Package B:  5 pads for $42.50.

Package C:  1 pad for $9.25.

Package D:  10 pads for $100.00.
Which package should the team buy if they want to spend the least amount on a single set of pads?

a. Package A
b. Package B
c. Package C
d. Package D


3. The basketball team needs 10 new basketballs to practice. There are 2 different options:
Package A:  3 basketballs for $33.00.

Package B:  5 basketballs for $65.00.

Which package should the team buy and how much money will the team save by buying the cheaper option over the other?
a. Package A, save $20.00.
b. Package A, save $2.00.
c. Package B, save $31.00.

d. Package B, save  $2.00.


4. A box of 16 oz. cereal is $3.52. At that unit price, how much is a 24 oz. box of cereal?
a. $109.09
b. $0.22

c. $1.00
d. $5.28

5. A package of string cheese is $7.80 for 12. What is the cost per unit of the string chese?

WRITE THE ANSWER ON YOUR ANSWER SHEET.
**BONUS**

C1:   Solve for x.
-3(2x – 10) + 12x – 15 + 27 = (3x – 5) – (4x + 5) + 2x(4 + 7)

Challenge Card 2


6. Solve for x. 

3x – 12 = 12
WRITE THE ANSWER ON YOUR ANSWER SHEET.


7. Solve for m.

-7 + ½x  = 35
WRITE THE ANSWER ON YOUR ANSWER SHEET.






8. Solve for z. 

(6/z) + 5 = 20
WRITE THE ANSWER ON YOUR ANSWER SHEET.






9. Solve for y.

-6 + (y/10) = 75
WRITE THE ANSWER ON YOUR ANSWER SHEET.






10. Solve for k.

¾x + ½ = 32  
WRITE THE ANSWER ON YOUR ANSWER SHEET.
**BONUS**

C2:  Solve for x.
         3x(2 – 4) + 7 (8x – 9) – 25 + 17x = 52x +4(5-6x) + 10 – 35 

Challenge Card 3

11.    Solve for x.
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WRITE THE ANSWER ON YOUR ANSWER SHEET.
12. Solve for x.
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WRITE THE ANSWER ON YOUR ANSWER SHEET.





13. Solve for x.
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WRITE THE ANSWER ON YOUR ANSWER SHEET.






14. Solve for x.


[image: image4.wmf]12

)

9

6

10

(

4

3

=

-

-

-

x


WRITE THE ANSWER ON YOUR ANSWER SHEET.





15. Distribute and simplify.

-6x(-4 + 3)


**BONUS**
C3:  Solve for y.

-6(y – 3) + (3y-1) –(-y +1) = (4y + 5) -2(8 – y) + 3y + 20







Challenge Card 4
16. What is the solution if f(x) = g(x)?
f(x) = 3(2x – 7)

&

g(x) = 0.5x – 10

WRITE THE ANSWER ON YOUR ANSWER SHEET.




17. Solve for x.
2(3x + 5) – 8(x + 4) = 10x – 22 – 5x + 25

WRITE THE ANSWER ON YOUR ANSWER SHEET.


18. What is the solution if f(x) = g(x)?

f(x) = 
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&

g(x) =  15x + 7

WRITE THE ANSWER ON YOUR ANSWER SHEET.



19. Solve for x.
10x – 7 + 26x +20 = -x – 12 + 9x – 13x + 4

WRITE THE ANSWER ON YOUR ANSWER SHEET.
20. What is the solution if f(x) = g(x)?

f(x) = 0.75x – 34

&

g(x) = -¾ - 11x

WRITE THE ANSWER ON YOUR ANSWER SHEET.
**BONUS **
C4:  Solve for x.

-5(-2x – 10) + 45 – 39x = 27x – (3x +7) - 32
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